
u(jf ufpFkflnsf u(jf bfË lhG;L zfvf 
 

sfo{of]hgf 
 

l;=g= sfo{qmdsf] gfd  lqmofsnfkx? sfo{ ;Dkfbg ul/g] ldlt÷;do lhDd]jf/L /sd  

1= sjf*L pTvgg\ tyf lj!fkg s/ ;+sng ;"rgf k|sflzt ug{] .  ufpF sfo{kflnsfsf] lg)f{o ePsf] ;ft lbg 
leq ;"rgf k|sflzt ug{] . 

/fhZj zfvf 
lhG;L zfvf 

k|fljlws zfvf  

 

2=   :jf:Yo tkm{ cf}ifwL tyf cf}ifwL hGo ;fdfu|Lsf]  

 cfo'j{]b cf}ifwfno tkm{ cf}ifwL tyf cf}ifwL hGo ;fdfu|Lsf]  

 kz' ljsf; zfvf tkm{ cf}ifwL tyf cf}ifwL hGo ;fdfu|Lsf]  
 

 b/–/]̂  dfu 
ug{]  

 nfut 
cg'dfg tof/ 
ug{]  

 ;DaGwLt 
zfvfaf^ 
cf}ifwLsf] 
kl/df)f dfu 
ug{] 

 O–ljl*Ë 
;"rgf 
k|sflzt -
:jf:Yo tkm{_  

 ldlt 2080.05.07 ut] leq  

 

 ldlt 2080.05.15 ut] leq 

 

 ldlt 2080.05.25 ut] leq  
 

 

 

 ldlt 2080 efb| d;fGt leq 

lhG;L zfvf  

:jf:Yo zfvf  

cfo'j{]b cf}ifwfno 
k|d'v 

kz' ljsf; zfvf  

;DaGwLt 
zfvf ;Fu 
;dGjo 
u/L 
sfof{Gjog 
ug{] .  

3=  o; ufpFkflnsf sfof{no tyf cGtu{tsf ;Dk')f{ sfof{nox?sf nflu d;nGb tyf 
:^]zg/L ;fdfu|L v/Lb sfo{  

 ;DaGwLt 
lgsfox?af^ 
cfjZos 
;fdfu|Lx?sf] 
dfu ;+sng 
ug{]  

 nfut 
cg'dfg tof/ 
ug{] . 

 ;f]em} v/Lb 
k|s[of cuf*L 
a(fpg]  

 ldlt 2080.05.15 ut] leq  
dfu u/]sf] ;ft lbg leq tYof+s 
;+sng ug{] .  

 ldlt 2080 efb| d;fGt leq nfut 
cg'dfg tof/ ug{] .  

 ldlt 2080 c;f]h 15 ut] leq 
v/Lb u/L c;f]hsf] 22 ut] leq 
;fdfu|L Koflsª u/L c;f]h 25 ut] 
leq ;DaGwLt lgsfodf k'¥ofpg] .  
 
 

lhG;L zfvf 

;DalGwt lgsfosf 
k|d'vx? 

 

 

 

 



 

4 ;jf/L ;fwfg dd{t ;Def/ -uf*L, df]^/ ;fOsnx?_   kmf]/ Xj'n/sf] 
xsdf nfut 
cg'dfg 
l:^d]^ tof/ 
ug{] .  

 df]^/ 
;fOsnsf] 
xsdf .  

 tof/L Oi^Ld]^ cg';f/ dd{t k|s[of 
cuf*L a(fpg] .  

 

 sfof{nosf] lgodfg';f/ dd{t ug{] .  

k|d'v k|zf;sLo 
clws[t / lhG;L 
zfvf  

 

 

5 lhG;L cBjflws ug{] -2080÷2081_ sf nflu   kflnsf / 
kflnsf 
cGtu{tsf 
;Dk')f{ 
lgsfox?sf] 
lhG;L 
cBfjlws 
ug{]  

 ldlt 2081 c;f/ d;fGt leq  lhG;L lg/LIf)f 
;ldlt  

 

6 ljljw -cGo sfof{no ;+rfng ;fdfu|Lx? _  tTsfn v/Lb 
tyf dd{t 
ug{' kg{] 
sfo{x?  

 cfjZostf / lgodfg';f/ ;f]xL 
;dodf ul/g] .  

lhG;L zfvf   

            

           ========================     

            tof/ ug{]  

           

  


